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Total ks 0

INSTRUCTIONS: (1) Attempt all questions.

(2) Assume suitable data where necessary

(3) Figures to the right indicate full ma

(4) Start New Question on New Page *
(5) Total Pages in the Question Paper;
(6) Draw and Explain with diagram required

S>ec

Q-1:  Answer the Following (12)
a) Explain in Brief L 4 G
e Free Surf; N

ii) Archime

wide and 1.4 m deep and is filled with fresh water. Calculate

the load on thé¥bpand Shot side if
i.) The takcompletely full

ii.) reis heﬁ of 7m of water above the tank top.

Q-1:  Answer ollowing

(12)
ad on an immersed Lociames E 0 e -
e 4
e s e 4
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Q-2 Attempt Following:

t’vkmg,llm&ove ank iy a
top. The tank is filled w1th ol ( rd 0. 89') to the top of the so ‘ndmg pipe. The d&
floors are spaced 750mm apart and are connected to that tank top by rlveted angles the rivets

having a pitch of 7 diameters. If the maximum allowable st_;esé inthe riv,

b.) A bulkhead 9m deep is supported by vertical stiffeners 750mm apaft. Bulkead is flooded

to the top edge with sea water non one side only. Calculate :

i) Shearing force at the top
ii.)  Shearing force at bottom &

iii.)  Position of zero shear.

Q-3 Answer Following Questions (12)

a.) A ship displaces 12000 tonne, its centre above the keel aud its centre of buoyancy

is 3.60 m above the keel. If the secgd 23 of the waterplanc above the ventre line is 42.5 X b
10® m4 find the metacentric hei

b.) A vessel of constant triangul m wide at the deck ajd has a depth to deck of 7.5 m.

Draw the metacentric diagram rvals of draught up to the 3.0 m water line.

4

\ Section-II

Q-4:  Explain Incli Uxpefiment ‘ (12)

(11)

) Wetted Surface Area
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b) Explain in one line:

)i PG
i) BM
Bii) KB
iv)  SCF
V) KM
Q-6 Attempt following - | 12)

a) A ship of 5000 tonne displacement, 96m long, floats at draught .60m, forwatd and 6.30

m aft. The TPC is 11.5, GM(L)105m and centre of ion 2.4% aft of midships.

Calculate :
1) the MCTI cm ,
ii) the new end draughts when 88 tonne ar e rward of midships.
b) A ship 180m long has ¥ widths of water pl 7.5,12,13.5,14,14,14,13.5,12,7 and Om

respectively. Calculate :

i) Waterplane area ¥

ii) 1PC \

i) Waterplane nd ¢ ient.
L 4 \Q END OF PAPER
4
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